POČÍTEJ   BEZ   KROKOVACÍHO   PÁSKU
st 3.6.
  6 + 8 = ____
  9 + 9 = ____
11 – 7 = ____
14 – 6 = ____
  9 + 5 = ____
  4 + 8 = ____
  6 + 6 = ____
18 – 5 = ____
15 – 8 = ____
19 – 7 = ____






čt 4.6.
  4 + 9 = ____
  8 + 3 = ____
12 – 5 = ____
16 – 4 = ____
  3 + 8 = ____
  6 + 5 = ____
16 – 8 = ____
11 – 3 = ____
3 + 14 = ____
15 + 4 = ____






pá 5.6.
20 – 4 = ____
19 + 1 = ____
14 – 8 = ____
  7 + 6 = ____
12 – 4 = ____
2 + 12 = ____
17 – 3 = ____
19 – 4 = ____
[bookmark: _GoBack]6 + 12 = ____
  7 + 5 = ____





